(As per Rule 35 of Public Procurement Rules, 2017)

Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K.</u> 1.

E 1 1/40

Method of Procurement 2.

OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

Title of Procurement 3.

Transformers 630KVA & 400KVA

Tender Inquiry No. 4.

AJK-MR-110-N-23 Dated:13-04-2023

PPRA Ref. No. (TSE) 5.

4777 Dated 11-04-2023

6. Date & Time of Bid Opening 29-04-2023 11:30AM

Date & Time of Bid Closing 29-04-2023 10:30AM

No. of Bids Received

<u>02</u>

Criteria For Bid Evaluation FINANCIAL 9.

7.

8.

Details of Bid (s) Evaluation 10.

> rem Nr. 97 Plans of Sir

> > -richt

S.#	Item No.01 630 KVA Distribution Trans Name of Bidder	Technical Marks	Financial Marks	Evaluated Cost	Rules/Regulations/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA
	Sign sacres			Qty Rate Amount	Rules,2017
01	M/S HUSSAIN ELECTRIC(PVT)LTD.Office:S-152, New Industrial Estate, Mirroy (A K)	77	N/A	01 38,49950 38,49950	1 st Lowest Bidder
02	Mirpur(A.K) M/S Mega Transformers (Pvt) Ltd. FF,130 Devine Mega II Opposite Honda Point new Airport road Lahore Cantt	64	"	01 42,50,000 42,50,000	2 nd Lowest Bidder

S.#	Item No.02 400 KVA Distribution Trans Name of Bidder	Technical Marks	Financial Marks	Evalua	ted Cost		Rules/Regulations/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA
	e del per carrendo del			Qty	Rate	Amount	Rules,2017
	Details 0 in		D1/0	01	23,76315	23,76315	1 st Lowest Bidder
01	M/S HUSSAIN ELECTRIC(PVT)LTD.Office:S-152, New Industrial Estate,	77	N/A		237.0020		
	Mirpur(A.K)			01	32,50,000	32,50,000	2 nd Lowest Bidder
02	M/S Mega Transformers (Pvt) Ltd. FF,130 Devine Mega II Opposite Honda Point new Airport road Lahore Cantt M/S HUSSAIN El	64	,,				(4.10)

(1st Lowest responsive Bidder)

(As per Rule 35 of Public Procurement Rules, 2017)

Name of Procuring Agency 1. DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K

OPEN COMPETITIVE BIDDING (Single stage two envelope procedure). 2. Method of Procurement

3. Title of Procurement Cardiac (Disposable Cath lab Material) F.Y 2022-23

Tender Inquiry No. 4. AJK-MR-110-N-23 Dated: 13-04-2023

PPRA Ref. No. (TSE) 5. 4777 Dated: 11-04-2023

Date & Time of Bid Closing 6. 29-04-2023 12:00 PM

1 1 1 to

7. Date & Time of Bid Opening 29-04-2023 12:30 PM

8. No. of Bids Received 03

Criteria for Bid Evaluation 9. **FINANCIAL**

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluate Rs.50,10		Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	98	2500-	245,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	98	2920-	286,160-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluat	ed Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	50	2500-	125,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	50	2920-	146,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluat	ed Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	20	2100-	42,000-	1 st Lowest Responsive Bidder
02	M/S Al-Waali Care Concepts Lahore	65	N/A	20	3155-	63,100-	2 nd Lowest Responsive Bidder

(1st Lowest responsive Bidder)

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluate	d Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	100	1000-	100,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	100	1250-	125,000-	2 nd Lowest Responsive Bidder
	M/S Intek Corp ✓ Item No.05 Pressur	(1st Lowest 1				waipindi
S.#	Name of Bidder	d Cost	Rules/Regulation/SBD*/ Policy/acceptance as per				
		Marks	Marks	Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Al-Waali Care Concepts Lahore	65	N/A	150	290-	43,500-	1 st Lowest Responsive Bidder with Best Quality
02	M/S Global Health Tec. Rawalpindi	85	N/A	150	290-	43,500-	2"dLowest Responsive Bidder

21 A 14.

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	40	20,000-	800,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	40	26,000-	10,40,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluate	d Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	04	3000-	12000-	1 st Lowest Responsive Bidder
02	M/S Intek Corporation Rawalpindi	78	N/A	04	6500-	26000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
	- *; · · · · · · · · · · · · · · · · · ·	Marks	Marks	Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	100	3500-	350,000-	1 st Lowest Responsive Bidder
02	M/S Al-Waali Care Concepts Lahore	65	N/A	100	3700-	370,000-	2 nd Lowest Responsive Bidder

M/S Global Health Tec. 386-C Rasheed Plaza Flat no.2 Sector 2 Awan Market Khayaban-e-sir syed Rawalpindi
(1st Lowest responsive Bidder)

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	10	2500-	25000-	Single Responsive Bidder
	M/S Global Health Tec. 386-		aza Flat no.2 Single resp			ket Khayaban-	

30 mg 140

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	l Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA
							Rules ,2017
01	M/S Intek Corporation	78	N/A	03	29000-	87,000-	1 st Lowest Responsive
	Rawalpindi						Bidder
02	M/S Global Health Tec.	85	N/A	03	30000-	90,000-	2 nd Lowest Responsive
	Rawalpindi					,	Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	l Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA
							Rules ,2017
01	M/S Intek Corporation	78	N/A	01	26560-	26,560-	1 st Lowest Responsive
	Rawalpindi						Bidder
02	M/S Global Health Tec.	85	N/A	01	30000-	30,000-	2 nd Lowest Responsive
	Rawalpindi						Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	d Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA
0.1	M/C I-t-I-Cti	70	DT/A	0.1	26560	26.560	Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	01	26560-	26,560-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec.	85	N/A	01	30000-	30,000-	2 nd Lowest Responsive
	Rawalpindi					ć	Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	d Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	02	26560-	53,120-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	02	30000-	60,000-	2 nd Lowest Responsive Bidder



S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
			-	Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	19	26560-	504,640-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	19	30000-	570,000-	2 nd Lowest Responsive Bidder

2 4 tes

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	l Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	15	87000-	13,05,000-	1 st Lowest Responsive Bidder
02	M/S Intek Corporation Rawalpindi	78	N/A	15	95000-	14,25,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluate	d Cost	Rules/Regulation/SBD*/
			Train its	Qty	Rate	Amount	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Al-Waali Care Concepts Lahore	65	N/A	75	7500-	562,500-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	75	9000-	675,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	l Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	10	24000-	240,000-	1 st Lowest Responsive Bidder
02	M/S Al-Waali Care Concepts Lahore	65	N/A	10	24500- 2 Awan Mark	245,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/
		Marks	Marks	Qty	Rate	Amount	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	02	29000-	58,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	02	30000-	60,000-	2 nd Lowest Responsive Bidder



S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
		1-4990		Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	01	29000-	29,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	01	30000-	30,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	d Cost	Rules/Regulation/SBD*/
		Willing	Iviai K3	Qty	Rate	Amount	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	10	6200-	62,000-	1 st Lowest Responsive Bidder
02	M/S Al-Waali Care Concepts Lahore	65	N/A	10	6230-	62,300-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated	l Cost	Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S Intek Corporation Rawalpindi	78	N/A	10	8300-	83,000-	1 st Lowest Responsive Bidder
02	M/S Global Health Tec. Rawalpindi	85	N/A	10	14000-	140,000-	2 nd Lowest Responsive Bidder

S.#	Name of Bidder	Technical	Financial		Evaluated	Cost	Rules/Regulation/SBD*/
		Marks	Marks	Qty	Rate	Amount	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. Rawalpindi	85	N/A	20	11,500-	230,000-	Single Responsive Bidder

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K</u>

2. Method of Procurement OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement <u>Diet for Patient F.Y 2023-24</u>

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>06-05-2023 11:45 AM</u>

7. Date & Time of Bid Opening 06-05-2023 12:15 PM

8. No. of Bids Received <u>03</u>

9. Criteria for Bid Evaluation FINANCIAL

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Ma	rks	Evaluated Cost	()	Rules/Regulation/SBD*/
		Technical Marks	Financial Marks	Rs.18000000-Total B	ıdget	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S 3 Star Traders general order supplier	95	N/A	Without Gas Per Patient	518-94	1 st Lowest Responsive Bidder
	house no.102R Sector B/4 Mirpur			With Gas Per Patient	545-13	
02	M/S Ali Enterprises shop no.401 shopping	77	N/A	Without Gas Per Patient	544-56	2 nd Lowest Responsive Bidder
	center Mirpur			With Gas Per Patient	571-19	
03	M/S Waseem Traders Distributors & Supplier	80	N/A	Without Gas Per Patient	549-39	3 rd Lowest Responsive Bidder
	of goods 588 Shopping center Mirpur	-		With Gas Per Patient	576-41	y.

M/S 3 Star Traders general order supplier house no.102R Sector B/4 Mirpur (1st Lowest responsive Bidder)

Lowest Evaluated Bidder:-

M/S 3 Star Traders general order supplier house no.102R Sector B/4 Mirpur on the basis of Lowest Rate of Diet per patient per Day Rs.518-94 and During Load shedding of Sui gas per patient per Day Rs.545-13 during the F.Y 2023-24.

(As per Rule 35 of Public Procurement Rules, 2017)

Name of Procuring Agency

DIVISIONAL HEADQUARTERS TEACHING HÖSPITAL MIRPUR A.K.

Method of Procurement

OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

Title of Procurement

Local Purchase Medicine Government Servants/Z.F F.Y 2023-24

Tender Inquiry No.

AJK-MR-110-N-23 Dated: 13-04-2023

PPRA Ref. No. (TSE)

4777 Dated: 11-04-2023

6. Date & Time of Bid Closing

05-05-2023 11:00 AM

7. Date & Time of Bid Opening

05-05-2023 11:30 AM

8. No. of Bids Received

01

9. Criteria for Bid Evaluation

FINANCIAL

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Technical Marks	Financial Marks	Rs.8,000,000-	Rules/Regulation/SBD* /Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Bismillah Medicose Daud Plaza near DHQ Hospital Allama Iqbal Road Mirpur	87	N/A	National Medicines/ Multi National/Imported Medicines Surgical & Disposable Etc. offered 6.25% discount on retail prices.	Single Responsive Bidder

Single Offered of M/S Bismillah Medicose Mirpur offer 6.25% discount on retail prices for L.P Medicines to this hospital Indoor/Outdoor patients/Z.F (Single Responsive Bidder)

(As per Rule 35 of Public Procurement Rules, 2017)

Name of Procuring Agency
 DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K
 Method of Procurement

2. Method of Procurement

OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement

P. S.V. a. V.

3. Title of Procurement <u>Refill Cylinders Medical Gases F.Y 2023-24</u>

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>08-05-2023 11:30 AM</u>

7. Date & Time of Bid Opening <u>08-05-2023 12:00 PM</u>

8. No. of Bids Received <u>04</u>

9. Criteria for Bid Evaluation <u>FINANCIAL</u>

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Technical Marks	Financial Marks	Qty	Evaluate Rs.5,000 Rate		Rules/Regulation/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA
01	M/S T.M Gases Faisalabad	95	N/A	01	30,000-	30,000-	Rules ,2017 1 st Lowest Responsive
02	M/S Amad Gases Mirpur	60	N/A	01	34,500-	34,500-	Bidder 2 nd Lowest Responsive
03	M/S Rehman Gases Dina	80	N/A	01	38,000-	38,000-	Bidder
04	M/S Multan Chemical Ltd. Faisalabad	100	N/A	01	40,000-	40,000-	3 rd Lowest Responsive Bidder 4 th Lowest Responsive
	M/S T.M Gases opposite l	oismillah siz	ing awami a				Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks	Qty	Evaluat Rs.5,000 Rate	ed Cost	Rules/Regulation/SBD* Policy/acceptance as per
01	M/S T.M Gases Faisalabad	95	N/A	2150	1580-	33,97,000-	Rules 35 of AJK PPRA Rules ,2017 1st Lowest Responsive
02	M/S Rehman Gases Dina	80	N/A	2150	1750-	37,62,500-	Bidder 2 nd Lowest Responsive
03	M/S Amad Gases Mirpur	60	N/A	2150	1790-	38,48,500-	Bidder 3 rd Lowest Responsive
04	M/S Multan Chemical Ltd. Faisalabad	100	N/A	2150	2000-	43,00000-	Bidder 4 th Lowest Responsive
	M/S T.M Gases opposite l	pismillah sizi	ing awami s	treet ne	ear total p	ump sammund	Bidder

S.#	Name of Bidder	Technical Marks	Financial Marks	Qty	Evaluat Rs.5,000 Rate		Rules/Regulation/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA
01	M/S T.M Gases Faisalabad	95	N/A	300	600-	180,000-	Rules ,2017 1st Lowest Responsive
02	M/S Rehman Gases Dina	80	N/A	300	800-	240,000-	Bidder 2 nd Lowest Responsive
)3	M/S Amad Gases Mirpur	60	N/A	300	850-	255,000-	Bidder 3 rd Lowest Responsive
)4	M/S Multan Chemical Ltd. Faisalabad	100	N/A	300	1000-	300,000-	Bidder 4 th Lowest Responsive
	M/S T.M Gases opposite I	nismillah siz				1.134.51	Bidder

Am-

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluated Rs.5,000,		Rules/Regulation Policy/acceptance
0.1				Qty	Rate	Amount	Rules 35 of AJK PPI
01	M/S T.M Gases Faisalabad	95	N/A	40	32,000-	12,80,000-	1 st Lowest Response
02	M/S Amad Gases Mirpur	60	N/A	40	35,000-	14,00,000-	2 nd Lowest Responses
03	M/S Rehman Gases Dina	80	N/A	40	36,000-	14,40,000-	3 rd Lowest Response
04	M/S Multan Chemical Ltd. Faisalabad M/S T.M Gases opposite	100	N/A	40	45,000-	18,00,000-	4 th Lowest Response

M/S T.M Gases opposite bismillah sizing awami street near total pump sammundri road Faislabac (1st Lowest responsive Bidder)

S.#	✓ Item No.05 (Name of Bidder	Technical Marks	Financial Marks		Evaluated Rs.5,000,0		Rules/Regulation/SBD*/ Policy/acceptance as per
-	/			Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S T.M Gases' Faisalabad	95	N/A	200Kg	340-	68,000-	1 st Lowest Responsive Bidder
02	M/S Multan Chemical Ltd. Faisalabad	100	N/A	200Kg	350-	70,000-	2 nd Lowest Responsive Bidder
03	M/S Amad Gases Mirpur	60	N/A	200Kg	450-	90,000-	3 rd Lowest Responsive
04	M/S Rehman Gases Dina M/S T.M Gases opposite	80	N/A	200Kg	480-	96,000-	4 th Lowest Responsive

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluate Rs.5,000		Rules/Regulation/SBD*/ Policy/acceptance as per
				Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S T.M Gases Faisalabad	95	N/A	10	3800-	38,000-	1 st Lowest Responsive Bidder
02	M/S Amad Gases Mirpur	60	N/A	10	4400-	44,000-	2 nd Lowest Responsive Bidder
03	M/S Rehman Gases Dina	80	N/A	10	5000-	50,000-	3 rd Lowest Responsive Bidder
04	M/S Multan Chemical Ltd. Faisalabad	100	N/A	10	6000-	60,000-	4 th Lowest Responsive Bidder

M/S T.M Gases opposite bismillah sizing awami street near total pump sammundri road Faislabad (1st Lowest responsive Bidder)

S.#	Name of Bidder	Technical Marks	Financial Marks		Evaluat Rs.5,000		Rules/Regulation/SBD*/ Policy/acceptance as per
		05		Qty	Rate	Amount	Rules 35 of AJK PPRA Rules ,2017
01	M/S T.M Gases Faisalabad	95	N/A	05	1000-	5000-	1 st Lowest Responsive Bidder
02	M/S Amad Gases Mirpur	60	N/A	05	1450-	7250-	2 nd Lowest Responsive Bidder
03	M/S Rehman Gases Dina	80	N/A	05	1500-	7500-	3 rd Lowest Responsive
04	M/S Multan Chemical Ltd. Faisalabad	100	N/A	05	2000-	10,000-	4 th Lowest Responsive

M/S T.M Gases opposite bismillah sizing awami street near total pump sammundri road Faislabad
(1st Lowest responsive Bidder)

S.#	V Item No.08	Technical Marks	Financial Marks	Qty	Evaluate Rs.5,000 Rate		Rules/Regulation/SBD* Policy/acceptance as per Rules 35 of AJK PPR
01	M/S T.M Gases Faisalabad	95	N/A	04	500-	2000-	Rules ,2017 1 st Lowest Responsive
02	M/S Amad Gases Mirpur	60	N/A	04	990-	3960-	Bidder 2 nd Lowest Responsive
03	M/S Rehman Gases Dina	80	N/A	04	1200-	4800-	Bidder 3 rd Lowest Responsive
04	M/S Multan Chemical Ltd. Faisalabad M/S T.M Gases opposite	100	N/A	04	2000-	8000-	Bidder 4 th Lowest Responsive Bidder

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K</u>

2. Method of Procurement OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement <u>Transformers 630KVA & 400KVA</u>

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated:13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated 11-04-2023</u>

6. Date & Time of Bid Closing 29-04-2023 10:30AM

7. Date & Time of Bid Opening 29-04-2023 11:30AM

8. No. of Bids Received 02

9. Criteria For Bid Evaluation <u>TECHNICAL</u>

10. Details of Bid (s) Evaluation

No of Bu

Criteria Eco Ro

Opposite Final

S.#	Name of Bidder	Technical Marks	Financial Marks	Rules/Regulations/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRARules,2017
01	M/S HUSSAIN ELECTRIC(PVT)LTD.Office:S- 152, New Industrial Estate, Mirpur(A.K)	77	N/A	Qualified
02	M/S Mega Transformers (Pvt) Ltd. FF,130 Devine Mega II Opposite Honda Point new Airport road Lahore Cantt	64	N/A	Qualified

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K.</u>

2. Method of Procurement OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement <u>Cardiac (Disposable Cath lab Material)</u> F.Y 2022-23

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>29-04-2023 12:00 PM</u>

7. Date & Time of Bid Opening <u>29-04-2023 12:30 PM</u>

8. No. of Bids Received 03

9. Criteria for Bid Evaluation <u>TECHNICAL</u>

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Mar	ks	Rules/Regulation/SBD*/
		Technical Marks	Financial Marks	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Global Health Tec. 386-C Rasheed Plaza Flat no.2 Sector 2 Awan Market Khayaban-e-sir syed Rawalpindi	85	N/A	Qualified
02	M/S Intek Corporation # 517 Kohistan tower Mehfooz road Saddar Rawalpindi	78	N/A	Qualified
03	M/S Al-Waali Care Concepts Allama Iqbal Road Lahore	65	N/A	Qualified

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K</u>

2. Method of Procurement OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement Local Purchase Medicine Government Servants/Z.F F.Y 2023-24

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>05-05-2023 11:00 AM</u>

7. Date & Time of Bid Opening 05-05-2023 11:30 AM

8. No. of Bids Received <u>01</u>

9. Criteria for Bid Evaluation <u>TECHNICAL</u>

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Technical Marks	Financial Marks	Rules/Regulation/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Bismillah Medicose Daud Plaza near DHQ Hospital Allama Iqbal Road Mirpur	87	N/A	Qualified

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K.</u>

2. Method of Procurement <u>OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).</u>

3. Title of Procurement / Diet for Patient F.Y 2023-24

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>06-05-2023 11:45 AM</u>

7. Date & Time of Bid Opening <u>06-05-2023 12:15 PM</u>

8. No. of Bids Received 03

9. Criteria for Bid Evaluation <u>TECHNICAL</u>

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Marks		Rules/Regulation/SBD*/
		Technical Marks	Financial Marks	Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S 3 Star Traders general order supplier house no.102R Sector B/4 Mirpur	95	N/A	Qualified
02	M/S Ali Enterprises shop no.401 shopping center Mirpur	77	N/A	Qualified
03	M/S Waseem Traders Distributors & Supplier of goods 588 Shopping center Mirpur	80	N/A	Qualified

(As per Rule 35 of Public Procurement Rules, 2017)

1. Name of Procuring Agency <u>DIVISIONAL HEADQUARTERS TEACHING HOSPITAL MIRPUR A.K.</u>

2. Method of Procurement OPEN COMPETITIVE BIDDING (Single stage two envelope procedure).

3. Title of Procurement ' Refill Cylinders Medical Gases F.Y 2023-24

4. Tender Inquiry No. <u>AJK-MR-110-N-23 Dated: 13-04-2023</u>

5. PPRA Ref. No. (TSE) <u>4777 Dated: 11-04-2023</u>

6. Date & Time of Bid Closing <u>08-05-2023 11:30 AM</u>

7. Date & Time of Bid Opening <u>08-05-2023 12:00 PM</u>

8. No. of Bids Received 05

9. Criteria for Bid Evaluation <u>TECHNICAL</u>

10. Details of Bid (s) Evaluation

S.#	Name of Bidder	Technical Marks	Financial Marks	Rules/Regulation/SBD*/ Policy/acceptance as per Rules 35 of AJK PPRA Rules ,2017
01	M/S Multan Chemicals Ltd. Faisalabad	100	N/A	Qualified
02	M/S Rehman Gases G.T Road Dina Jhelum	80	N/A	Qualified
03	M.Amad Hardware & Gases Store Mirpur	60	N/A	Qualified
04	T.M Gases Faisalabad	95	N/A	Qualified
05	M/S Mirza & Company Jhelum	0	N/A	Does not qualify because he failed in technical evaluation criteria.